IWI	argome	ry. John a.
0 0	600	abama Infantry
000	,28Al8	abama Infantry
	Conf	ederate.
0		
1111	vake	Frivake
	CARD	NUMBERS.
124	37539	20
2	76211	21
3	8671	22
4	1	23
6		24
6		25
7		26
8		27
9		28
10		29
11		30
12		31
13		32
14		33
15		34
16		35
17		36
18		37 38
19		35
	Number of medic	al cards herein
	Number of person	al papers herein
Воок Маг	EK:	



Colonia of Montgomery. Scapt. Hopkins' Co., Frazer's Reg't Alabama Volunteers.* Age 21 years. Appears on Company Muster-in Roll of the organization named above. Roll dated Phelly Spring Ala Mah 29, 1862. Muster-in to date Muster-in t
Age 21 years. Appears on Company Muster-in Roll of the organization named above. Roll dated Phelby Sping Ala Mach 29, 1862. Muster-in to date Muster-in to date Muster-in to date Meh 29, 1862. Joined for duty and enrolled: When Mach 10, 186. Where Pelma Dallas Gunty Ala By whom J. B. Harrison Period 3 years or the war
Company Muster-in Roll of the organization named above. Roll dated Phelby Spring Ala Mah 29, 1862. Muster-in to date Muster-in to date Muster-in to date Mach 29, 1862. Joined for duty and enrolled: When Mach 10, 186. Where Pelma Dallas Gunty Ala By whom J. B. Harrison Period 3 years or the man
Company Muster-in Roll of the organization named above. Roll dated Phelby Spring Ala Mach 29, 1862. Muster-in to date Mach 29, 1862. Joined for duty and enrolled: When Mach 10, 186. Where Pelma Dallas Gunty Ala By whom J. B. Harrison Period 3 years or the war
of the organization named above. Roll dated Phelby Spring Ala Mach 29, 1862. Muster-in to date Mach 29, 1862. Joined for duty and enrolled: When Mach 10, 186. Where Pelma Dallas Gunty Ala By whom J. B. Harrison Period 3 years or the war
Shelby Spring Ala Mach 29, 1862. Muster-in to date Mach 29, 1862. Joined for duty and enrolled: When Mach 10, 186. Where Pelma Dallas Gunty Ala By whom J. B. Harrison Period 3 years or the war
Muster-in to date Mch 29, 1862. Joined for duty and enrolled: When Mch 10, 186. Where Pelma Dallas Guntz Ala By whom J. B. Harrison Period 3 years or the war
Muster-in to date Mch 29, 1862. Joined for duty and enrolled: When Mch 10, 186. Where Pelma Dallas Gunty Ala By whom J. B. Harrison Period 3 years or the war
Where Pelma Dallas Guntz Ala By whom J. B. Harrison Period 3 years or the war
Where Pelma Dallas Guntz Ala By whom J. B. Harrison Period 3 years or the war
By whom J. B. Harrison Period 3 years or the war
Period 3 years or the war
Remarks:
•
•
·
·
*This company subsequently became Company I, 28th Regiment Alabama Infantry.
Book mark:
Geofdrew
(655) Copyet.



Confederate.					
M 28 Ala.					
A Montgomery 10, Co. J., 28 Reg't Alabama Infantry.					
Appears on					
Company Muster Roll					
of the organization named above,					
for Mich 29/62 to apr 30, 1862					
Enlisted:					
When Mch 10, 1862					
Where Felma					
By whom J. B. Harrison.					
By whom J. B. Harrison. Period 3 years or during the war					
Last paid:					
By whom					
To what time, 186 .					
Present or absent Fusent					
Remarks:					
x nam appear in the Columny name					
Aleson of Sohn of Modgemery					
Book mark:					
B. (1)					
(642) Feof New Copyrist.					
(642) Copyist.					



Confeder	rate.)
M . 28	Ala.
John monty	t Alabama Infantry.
, Co. Cl., 28 Reg'	't Alabama Infantry.
Appears on	
Regimental R	
of the organization named about	
for the month of Jun	le, 186 z.
Commissioned officers present ar	nd absent:
Station	
Remarks:	
Alterations since last return am	nong the enlisted men:
Date	, 186 .
Place	
Remarks:	
Enlisted men on Extra or Daily	Duty:
Daily	Dusy .
Absent enlisted men accounted for	for:
Date or pla	ce fabrene
not staked	
Eknig	0.
(644) · Shring	Copylist.



(CONFEDERATE)					
J. A. Montgomery					
Pvt., Co. I, 28th Ala.					
Appears on a RECEIPT ROLL					
For "Commutation of Rations." Roll dated Talladega, Ala.					
Feb. 23, 186 3.					
From June 21 , 186 2 . To July 10 , 186 2 . Signer's name					
Remarks: Pete Feb. 4, 1863					

Roll No					
Hughes					
Copyist.					